Use repeated source transformations to convert this circuit into Thévenin form.
Recall that that Thévenin source is a voltage source in series with a resistor.

We note that the two resistors here are actually in series with each other so we can combine them with a single resistance, which is the sum of the two values.

Next, we take the voltage source form and transform it into it’s equivalent current source form.

Put the arrow head on the same side as the positive voltage terminal.

Using the same resistance value of 20Ω, divide the voltage by the resistance to get the equivalent current.
We’ll now make the substitution.

We can now combine these two parallel resistors.

This can be done by taking the reciprocal of the sum of reciprocals as shown.

This gives 15Ω.

We can now convert our current source form into the equivalent voltage source form.

The resistor value stays the same and the voltage is the product of the current and resistance.

Now we can see that the three remaining resistors are connected in series so we can sum them and use a single equivalent resistance.

This gives the final Thévenin form.
